FAN: 230lsn
HH: Y23 M4 28 2 XML (2L 22/25H0 =)
=E o*v:l—E-i} IHXIEE (cto: & 8)
ELRE-E Tl(eml) A - pas oarey e . lase
230= 82,326,603 81,471,210 855,393
= 19,272,643
X 16,743,000
] 5,048,046
& 41,262,914
ZAES FHE &8 L IOXIML(SSL2E /250 2,458,500 2,066,500 392,000
N 400,000
=S 2,058,500
228 JIXIEE 772,000 695,000 77,000
23 HAZE 772,000 695,000 77,000
201 Y2 | 162,000 90,000 72,000
01 AtR22|H 162,000 90,000 72,000
OLRATA H& 162,000
202 04l 3,000 3,000 0
01 = LHOIHI 3,000 3,000 0
OLdE MAZE dFFA 3,000
301 Yereaa 57,000 97,000 £40,000
"IIEt2d= 57,000 97,000 £40,000
OZATAN BIAY 23 57,000
308 MtXIHSOI& 550,000 505,000 45,000
0O AXSHBHEES 550,000 505,000 45,000
oot s HR 150,000
02y Jold A4 60,000
O3 0/0] &+ 150,000
o2= JAd4 o7 50,000
OS¢ Olss 7 50,000
Q37 A3 20,000
Odit&dE A+ 20,000
OB T HSAY 50,000
SERS Y==|4d 1,686,500 1,371,500 315,000
X 400,000
S 1,286,500
SEQE 25 A 882,000 444,000 438,000
202 Ol 4,000 4,000 0
01 = LHOIHI 4,000 4,000 0
OEEUEHAIF 4,000
307 giztol ™ 30,000 0 30,000
04 BIZIHAIAIE E X 30,000 0 30,000
oz SHU=UA 30,000
308 AXIHHSOIH 848,000 440,000 408,000
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2N 280z
H: 22Es M4 gE & AN D(2EL2H/230=)

ool BESS Y2RY (Eol: ® )
2B E(E) - HENY - BaS 0 st e L HRs
01 AXESHHBAEEZ 848,000 440,000 408,000
OFAM&AMN X3 70,000
OZEMFL BEHS 12,000
OHIAZA 23=EH : 50,000
OL3 EZLX0sd 40,000
Ost=USMEEH SO 40,000
O 2EH 200,000
OLSH2H #ALXJ 250,000
OZRE 2EH A 50,000
o=elne sA=Rs Laldl 10,000
ORESALES LHF L =3 6,000
OFd UEHA AJAY 20,000
OdELE =033 N 20,000
O&ES &g+ B4 100FE JIEA Y 80,000
COAEY 2aEsd 82,000 90,000 28,000
307 212t01 & 82,000 90,000 8,000
02 BIABHAHES 82,000 90,000 28,000
OEQUME Z3EA MHAXE 82,000
LT SEEZ A A4 71,000 51,000 20,000
201 Y2 | 31,000 31,000 0
01 At222lHI 7,000 7,000 0
OZLAT EEZsE A& 7,000
03 A2l 24,000 24,000 0
O3 SEZSHA A& 24,000
301 LEtE AR 40,000 20,000 20,000
11 JIE2 &= 40,000 20,000 20,000
OZAT EEZSA A& 40,000
SSUE 435 70,000 60,000 10,000
307 QI2t0| & 30,000 30,000 0
02 YABAAHEE 30,000 30,000 0
0&d44d s5ns 29 30,000
308 XM SOIA 40,000 30,000 10,000
01 AXIEHHBAEEZ 40,000 30,000 10,000
OE=UER WA 29 40,000
HENEEBERARE 29 1,500 1,500 0
201 LBt 1,500 1,500 0
01 At 22l 1,500 1,500 0
OHSAE BEERRE 2Y 1,500
NSRS AXS (=) 580,000 725,000 2145,000
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2AH: 280zt
M A2 MY E L OIXMID(BL2Z/250%)
e $ERS L2sY
SA-BH . B(B) - MSAY - BES oo b
=S 180,000
308 XHXIEHHISO0IE 580,000 725,000 2 145,000
Xl 400,000
= 180,000
01 AXSMBLAEES 580,000 725,000 A 145,000
OHSIAN =T &3 145,000
Xl 100,000
= 45,000
OLEHUM MSUZ L=0l W& 145,000
X 100,000
= 45,000
OZFLEESN =&AE 145,000
X 100,000
= 45,000
OMIA THetel= otelEEH 145,000
N 100,000
< 45,000
2RI 2WH A (2L 2R/230E) 53,828, 160 52,551,110 1,277,050
= 5,454,169
X 16,343,000
J| 3,708,000
= 28,322,991
ESIBAILY XSEE 15,612,500 9,750,500 5,862,000
Xl 10,570,000
== 5,042,500
Z80|e AlE8HE 1,250,000 235,000 1,015,000
202 044l 5,000 5,000 0
01 U AL 5,000 5,000 0
O=stIIEr AId2E 8XEE 5,000
401 Al HIZ 2 TiHI 200,000 0 200,000
01 Al &I 200,000 0 200,000
OLIA=SEESHRLIEIMEH =4 200,000
403 RXISHM S XAH201H 1,045,000 230,000 815,000
01 XM A=2EX 1,045,000 230,000 815,000
OS2 NZ 2% 43 XA 30,000
OFZXNY 2T N2 =4 90,000
OUMUOIEHH 2|22 300,000
O¥F g ZF HNAEGRA 222 400,000
Ostden ZEEH ALY 50,000
OArE 2ASHAIHI OIEALS 75,000
OFEH&ZsH A4 e 100,000
203 Wabl(=2) 1,500,000 3,805,000 22,305,000
Xl 1,500,000
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D ESDIBAIES XSEE

D EEols

ZEEse FUH L (SHAAZ/280=)

SN - BB O2(31) - HRAY - BES ol &bt e HlmE2
403 XXM S X201 ™ ' 1,500,000 3,805,000 22,305,000
: Xl 1,500,000
01 IXIESMA2E = 1,500,000 3,805,000 22,305,000
OXEEZs=XNEH ML 1,500,000
Xl 1,500,000
g of3dE 29 160,000 160,000 0
308 XIS SOI&E 160,000 160,000 0
10 B2 SUHUESZ XA A Y] 160,000 160,000 0
ouzg ordsda 2g 160,000
S A (=) 3,190,000 0 3,190,000
Xl 2,200,000
T 990,000
403 AXIESHEXN20IH 3,190,000 0 3,190,000
Xl 2,200,000
= 990,000
01 AXISHMA2E = 3,190,000 0 3,190,000
E3d oHLImolaetE2 cl2EE 1,740,000
Xl 1,200,000
& 540,000
QYFRUIIEER TANHEARSE SSAMY 1,450,000
Xl 1,000,000
= 450,000
S3AE A8 (2D0) 5,342,500 5,550,500 A208,000
Xl 4,000,000
= 1,342,500
403 ARSI S K201 H 5,342,500 5,550,500 A208,000
Xl 4,000,000
< 1,342,500
01 tXSMA2E = 5,342,500 5,550,500 A 208,000
CEAH2AEMHMZ 2HE 752,500
X 700,000
& 52,500
OEAGHI N2 HE 530,000
Xl 500,000
& 30,000
ORFES N2 2HE 2,900,000
Xl 2,000,000
= 900,000
QN3 N2 2HE 1,160,000
Xl 800,000
< 360,000
N AR Z=4(21) 70,000 0 70,000
Xl 70,000
403 AtXI M S X201 ™ 70,000 0 70,000
Xl 70,000
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2N
=L F

2501& 1
YA IWY Y3H(2HUD

= —E—§DI‘.=LFAI§9-I N
B - E&%(mn kll Argi wga Ol .
. . - = . _J = "'i;4 5
01 XtX| C*HII}EE 70,000 0 70,000
oOx2TN& =4 70,000
N 70,000
SE2sAE =4 (=0) 4,100,000 0 4,100,000
X 2,800,000
& 1,300,000
403 MRS X201 ™ 4,100,000 0 4,100,000
Xl 2,800,000
& 1,300,000
01 RtXICHHGEEE 4,100,000 0 4,100,000
O(MEF0HD SE2HRLIEIME =H 4,100,000
Xl 2,800,000
& 1,300,000
Zstoles JEMA 25 9,749,167 8,334,417 1,414,750
= 322,006
Xl 2,599,000
| 501,000
< 6,327, 161
SHUNRLSEE Y H2AG 43,000 2,000 41,000
202 048l 3,000 2,000 1,000
01 ZLHOIHI 3,000 2,000 1,000
EotuFE SN ¥ 52U FA 3,000
308 A+XIEHH SO0l & 40,000 0 40,000
01 AXSHMBAEXS 40,000 0 40,000
OEsdaA 202 =MUH=NFA 40,000
2RE-ZECE ZHESNE 14,000 14,000 0
307 2I12t01 & 14,000 14,000 0
04 QIZHHAIAN S B X 14,000 14,000 0
OZAT-ZECE ZHESNTF 14,000
SE0 NEEL Ol=nsd 8,000 9,000 A1,000
307 gi2tol & 8,000 9,000 21,000
04 CI2HHALAIRA B X 8,000 9,000 41,000
O==0t NLAR D=ngyd 8,000
Zsi0ls Z=gs X 849,000 679,000 170,000
202 G Hi 7,000 7,000 0
01 = LHOILI 7,000 7,000 0
O=stils zas XJ 7,000
307 giztol ™ 210,000 135,000 75,000
03 QIZHEHHE2IHIE X 210,000 120,000 90,000
QRS 204 X2t 30,000
OALEI S 22l XA (230=) 180,000
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SA: 230
o YA YW ASHSALBY/25H0E)
ool 20l DEHH 7= SEREE))
 RA - G9(3) - MRAY - Bas oy T ]—’tll 52
308 XXM SOl 632,000 537,000 95,000
01 HXEHMBLEZS 632,000 537,000 95,000
OLE =IMF2HE == 80,000
OdAE Y Dl=lid 10,000
o=Zcl ESFT 100,000
OXobte 2gEs X 130,000
OEXZ2st2 tl=dz 252 32,000
O%Ss dx2g=M XA 50,000
(CLIPNE=E= N 30,000
OLFUI EH=F ALY 50,000
ORcIDIESSLNAZZHE 120,000
OdIsLUet 2018 S =E&HH 30,000
Z3 D=x8 HodE XA 60,000 60,000 0
307 g1zZtol & 60,000 60,000 0
02 UZHAHAHEZ 60,000 60,000 0
OLA NI&sANE X 30,000
O2H OIEHA XA 30,000
S3101E BAKH 985,500 500,000 485,500
201 29| 252,500 0 252,500
01 At 22l 2,500 0 2,500
OZAT 2= 2 2,500
03 A2 S| 250,000 0 250,000
Ot "A Ol=HtH 3 250,000
307 @I2H0I & 565,000 500,000 65,000
02 QI HAAYEE 50,000 0 50,000
OLRADIEHARRAE XA 50,000
04 QIZISHALAII 2 515,000 500,000 15,000
O2s0=A XIE 500,000
OLAE ELH H=dE N3 15,000
308 At XIEHHM SOl & 168,000 0 168,000
01 UXESHBSEXS 168,000 0 168,000
O=x ESITH= WAL 20,000
ORF gtx+4 WRTAE 40,000
OBH 2 =483 20,000
o84 =4Ud SHMuUFH 30,000
OBt=2 & SETAE 13,000
OO0iSdle HAEE 15,000
OgdE 3=8Z Z30=8A 30,000
ALY 21C BI™ALY 15,000 15,000 0
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M 23

=k

ol

BN FHH .S (3) - HRAY - B Ol & 24 l
S(FE.'?JOIE: 15,000 B 15,000 0
02 UAHHAMHER 15,000 15,000 0
OAJAEHY 21C HIMA L 15,000
ZEUSEH L FLEEEY 29 22,000 22,000 0
307 212+0| & 22,000 22,000 0
02 UHBMMEEE 22,000 22,000 0
OLASEMI AU 2 22,000
I 29 10,000 10,000 0
307 21201 ™ 10,000 10,000 0
02 QIZHBAMEFES 10,000 10,000 0
OLAE =Y 29 10,000
ZEIME 2 UHas 2,520,000 1,420,000 1,100,000
306 £ 1,800,000 1,300,000 500,000
01 2213 1,800,000 1,300,000 500,000
OZ2s&0les AEAEY 1,500,000
OZd=sME 238 X& 300,000
307 212+0l ™ 120,000 120,000 0
05 QIZt2 &= 120,000 120,000 0
oz =32 fEH 120,000
401 Al EBIK 2T 600,000 0 600,000
01 Al&Hl 587,000 0 587,000
OZdA=AN =22 |28 587,000
02 el 10,000 0 10,000
oZa=dl=s2 cl2&d 10,000
03 A€ S THYI 3,000 0 3,000
oZ=dn=3 2 2|28 3,000
g2 29 43 109,500 109,500 0
202 O4 I 1,500 1,500 0
01 =LHOIHI 1,500 1,500 0
OXNg=2ad 22 43 =& 1,500
308 RtXI M SO0l 108,000 108,000 0
01 IXSHBAEES 108,000 108,000 0
OXg=2s3 M 2R3 108,000
Ng2sal ALHX](22) 1,538,000 2,500,000 A962,000
X 1,538,000
403 [kXIEHM S0l 1,538,000 2,500,000 £962,000
: X 1,538,000
01 HXESHIA2LEX 1,538,000 2,500,000 A962,000
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SA: 202D
Hu: Y259

2 A3 (BIA2Z/2E0=E)

&@el: 2stls MEMA RS )
SA - B S(S) - NIBAY - BAS Ofproy
1_ OPN2s& HY 738,00
Xl 738,000
CEdZsd A 800,000
Xl 800,000
SEERS=2 LIS 15,000 15,000 0
307 2I2+0| ™ 15,000 15,000 0
02 CI2tAMAIHE X 15,000 15,000 0
OHERSI=2 ARALIEUI 15,000
ANE=0l BAUE 12,000 15,000 A3,000
307 QIZto| & 12,000 15,000 A3,000
02 QIHAAAREE X 12,000 15,000 A3,000
OME=0| ZU3 12,000
2325 UsA = 32,000 40,000 A8,000
307 21201 ™ 32,000 40,000 28,000
02 QIIBAMNYEE X 32,000 40,000 A8,000
OUIARs UEA 32,000
ASE OI=s&E 2l 15,000 15,000 0
201 B2 4| 15,000 15,000 0
01 At 22l | 15,000 15,000 0
OHEE D=XE AR 299 15,000
N2 EsELRIA(21) 2,122,000 1,950,000 172,000
Xl 1,061,000
= 1,061,000
307 21201 ™ 2,122,000 1,950,000 172,000
Xl 1,061,000
= 1,061,000
02 QIZtAMAIRAE X 2,122,000 1,950,000 172,000
OXEZst=S 45K 2,122,000
Xl 1,061,000
& 1,061,000
S AFHH SHX|A(=1) 1,002,000 924,000 78,000
I 501,000
T 501,000
307 212+0| ™ 1,002,000 924,000 78,000
Jl 501,000
= 501,000
02 QIZHBAANREE X 1,002,000 924,000 78,000
OB AFHHTLNA 1,002,000
Jl 501,000
T 501,000
SSCAE U23AHIA K& (21) 6,360 4,217 2,143
= 6,360
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2N 202D
Yo FRSsiol WA AS(SHABB/28012)

&l 2stol= F_"-"JHIJ# ] (e 3 &)
Tk‘i Sw qﬁ(sun) NS A - mas | ol 5 G HRsZ

308 PADN ’-'*JHIOOIE 6,360 4,217 2,143
= 6,360

01 IXSHHBAEES 6,360 4,217 2,143
O33= A UIEStMHIA XI& 6,360
= 6,360

SAZ MOISAHHIA XA (FA)(=D) 11,400 4,000 7,400
= 11,400

308 AHXIHHME0IA 11,400 4,000 7,400
= 11,400

01 AXHHBAEES 11,400 4,000 7,400
O N2 HO|SAHHIA XIR 11,400
= 11,400

CAZ HOISAHIA T (nEI2)(=1) 83,600 0 83,600
= 83,600

308 At XIHMSOI™ 83,600 0 83,600
= 83,600

08 WEI|IZHUSEER 83,600 0 83,600
O M2 HOISHHIA 2F 83,600
= 83,600

OLECHE 0l0kJ| EHUAE(Z21) 275,807 20,700 255,107
= 220,646
= 55, 161

307 glzto| A 275,807 20,700 255,107
= 220,646
=5 55,161

02 QItFAANYER 275,807 20,700 255,107
OOISLt2 OI0)| EHULAL 275,807
= 220,646
= 55,161

M3 o35t 6,928,093 6,352,093 576,000
= 1,322,163
= 5,605,930

CEM=E 29 #43 3,407,800 2,944,800 463,000

201 2 8t29H| 520,000 270,000 250,000

01 AtR2tel 130,000 130,000 0
O Et=g ArR22IYI 130,000

02 =324l 40,000 40,000 0
o8t 32| 40,000

03 A2 HI 350,000 100,000 250,000
O E=t SHFN 350,000

202 Gi i 7,800 7,800 0

01 SLHOIHI 7,800 7,800 0
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2A: 250=1
B YL FY YH(SALBY/23H012)
G USRS 248 (A
SH B O (B) - NSEAY - BAS O & o 858 HR=2
308 AtXI X SO0 & 161,533 161,533
= 161,533
01 HXENBAEXS 161,533 161,533
OB AT JHZAZ HE2Y 161,533
= 161,533
NEESLS 20z USAH(21) 262,000 262,000
= 131,000
== 131,000
307 2i2+0| & 262,000 262,000
2 131,000
== 131,000
02 IZtBAAASEE X 262,000 262,000
OXNHEHS SFM=nE MY 262,000
= 131,000
T 131,000
stnel 230isus #43(=1) 903,260 903,260
= 451,630
& 451,630
307 e12+0| & 903,260 903,260
= 451,630
T 451,630
02 SIZ2tBAANYEX 903,260 903,260
O ut=2ZA N 903,260
= 451,630
T 451,630
2stlzsns 435 JdA(=21) 300,000 300,000
= 150,000
< 150,000
307 212t0| ™ 300,000 300,000
= 150,000
T 150,000
02 A BAAHEE 300,000 300,000
OXE 20z FANALH 2 300,000
= 150,000
T 150,000
EQRsstL 2% (=21) 856,000 856,000
= 428,000
T 428,000
307 e12+0| & 856,000 856,000
= 428,000
T 428,000
02 QIZHBAAAEE 856,000 856,000
OERRssn 29 XA 856,000
= 428,000
T 428,000
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T

X ZH :
(=R B
eel:

-V SN

2EEso WY (2ot 2/

FHLE 25 43

HD

5t

BN -BH . 9(3) - HEAY - BAS Ofl sk :
ZRCEIH 29 920,000 800,000 120,000
306 43 920,000 800,000 120,000
01 &3 920,000 800,000 120,000
OXRTEIH 29 920,000
Zotlll=s ME AIM F& 2,500 2,500 0
201 B2l 2,500 2,500 0
01 At 2218l 2,500 2,500 0
OZRx K2l AR 29 2,500
HED N2 el A2 XA 15,000 10,000 5,000
307 212+0| ™ 15,000 10,000 5,000
02 SIZHAAMASHEE 15,000 10,000 5,000
O30 AR XA 15,000
230 =20k AFSISHHl X1 50,000 50,000 0
307 Qiz2tol ™ 50,000 50,000 0
02 QI2tE AAIRIE X 50,000 50,000 0
ORI U=20F AtSIEH XI& 50,000
A3 2sHE 84 14,352,800 5,462,800 8,890,000
= 3,450,000
Xl 980,000
| 3,207,000
& 6,715,800
SARSMH ol=0t2 ZLXA 50,000 200,000 A 150,000
308 AXHHSOIN 50,000 50,000 0
01 IXSHMBAEEZ 50,000 50,000 0
O3AUZS M ol=0E2 ZLAE 50,000
22X 2st0s XA 300,000 0 300,000
307 212+0| & 300,000 0 300,000
02 QIZFB AN ER 300,000 0 300,000
OAXSY 2tz Btats X 300,000
AHE Sy 2d(=1) 3,470,800 2,972,800 498,000
J| 3,207,000
[~ 263,800
308 AtXIHHSOIH 3,470,800 2,972,800 498,000
Il 3,207,000
== 263,800
01 XN BAMEES 3,470,800 2,972,800 498,000
OSE ZI0IE8A A 3,470,800
| 3,207,000
== 263,800
ZRIM0 =S UKH=SH H2(=2) 2,450,000 1,250,000 1,200,000
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=
i

e

ELE

E30i=w
2RARE0 WY A (2L 2E/250E)
SELEERE
SN - BY-S9(SH) - RN - BES 0l arou
S — X 560,000
< 1,470,000
306 3 2,450,000 1,250,000 1,200,000
Xl 980,000
= 1,470,000
01 &¢3 2,450,000 1,250,000 1,200,000
OZAZN0I=ES Mzl 2,450,000
Xl 980,000
=S 1,470,000
2y = HSAM HEAX(=2) 1,100,000 1,040,000 60,000
307 2I12t01& 1,100,000 1,040,000 60,000
03 I HEH2EHIER 400,000 240,000 160,000
OHMI1538] H2F=HSAH M2 X 400,000
04 CIZHBALAIRI E X 700,000 800,000 2100,000
OH158 H2S=MSAH HEX2 700,000
ESEI M 537,000 0 537,000
201 er2dH| 80,000 0 80,000
03 At EH| 80,000 0 80,000
OcEM=Y HEdL SE3H 80,000
202 ol 12,000 0 12,000
01 =LHOdHI 12,000 0 12,000
O=st=8d #MXE 12,000
307 g12to| & 50,000 0 50,000
04 CIZHSHALAIRIE &= 50,000 0 50,000
OFOOIS Ol=EHE MHEXH 50,000
308 AXIEHHSOIA 395,000 0 395,000
01 AXSHHBLEXS 395,000 0 395,000
CHEASHSEL L3208 HAEEY 75,000
CTWISHSEY 43J18 SEdH 20,000
O== Fd=t 24 150,000
O&t= gy 'MNE' 3¢ 150,000
sy NV(21) 6,445,000 0 6,445,000
= 3,450,000
== 2,995,000
201 2 er2 | 3,000,000 0 3,000,000
= 1,500,000
=S 1,500,000
03 A2 H| 3,000,000 0 3,000,000
oS8T 43 Mzl 2EU=A 3,000,000
= 1,500,000
T 1,500,000
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2N 250
Y SRS I LH(SHL /250 )
te: 23 23EE |54 EERCED
B T T ‘ S
SA - HB . S(B) - NRAY - BES ol o4 e HRE2
307 212t01 A 900,000 0 900,000
= 450,000
S 450,000
04 QIZFHALAIR B X 900,000 0 900,000
ouZ2Z=HSH 900,000
= 450,000
T 450,000
308 X XIEHHSO0I® 2,545,000 0 2,545,000
= 1,500,000
S 1,045,000
0Ol IXSHHBAEES 845,000 0 845,000
OS84 MA=Z=A 650,000
= 500,000
= 150,000
OEM Sg A 195,000
= 150,000
T . 45,000
10 B2 S UHE B A E S AL 1,700,000 0 1,700,000
ODMZ EStol= M 1,000,000
= 500,000
S 500,000
OSEHI & NS2s 3¢ & S dA 700,000
= 350,000
== 350,000
SS2EH=MY 4 6,717,600 5,253,300 1,464,300
X 2,194,000
=SS 4,523,600
ESZEHEAY JIBtxd 3,605,400 2,121,800 1,483,600
201 fEr29] 10,000 10,000 0
01 At 22 10,000 10,000 0
ORI =LY Z2I2H(ICT 8) 10,000
202 04 Hl 17,000 10,000 7,000
01 =04 bl 17,000 10,000 7,000
OS2 =AY JIBtEH I 14,000
O=stat JIBIAIE =4 A 3,000
307 212t01 A 1,680,000 950,000 730,000
02 UAHHLANYEE 1,300,000 600,000 700,000
oZaF iy XA 1,000,000
OBH=MASHIA 300,000
03 Bl AMEE2EHIEX 380,000 350,000 30,000
ozZaI Y X& 380,000
308 X XIEtMS0I& 1,848,400 1,151,800 696,600
0Ol XSS AEES 1,848,400 1,151,800 696,600
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SN 2SS
u: A0 FW

=2
-
g9 dEHRNY S

' A - é"" q'r](ﬁljﬂ) kII A}% EQE , Ofl Arod :
"'T_ St SaUE 545 =% 1,400,000
O F5HH X 90,000
OIS AT (45 &K 15,000
oA M3 HLINOIE 2E=X K= 158,400
OMESSIME 2YBL3 60,000
OZHOLIEISHAEIE X8 50,000
oS AT AW AMASHTZIE 2 40,000
OREFOfO QAAABK X 25,000
O=E Y OMLE =4 10,000

403 XX RIS X201 A 50,000 0 50,000

01 HXSHKESE 50,000 0 50,000
o= ss DN 50,000

seosip HE(21) 890,500 1,839,500 949,000
X 685,000
< 205,500

403 XX SHH S XH=O0| & 890,500 1,839,500 £A949,000
X 685,000
= 205,500

01 HXISHGEEE 890,500 1,839,500 949,000
O=SYSH HYAY 890,500
X 685,000
< 205,500

MESSME Z4(2D) 640,000 160,000 480,000
Xl 640,000

403 XHXISHS K01 & 640,000 160,000 480,000
% 640,000

01 HXISHHK=EE X 640,000 160,000 480,000
ORZAMEBSSME =4 200,000
X 200,000
OHATMBSSIHE X4 440,000
x 440,000

XSS ADICIOME KA (2D) 245,700 117,000 128,700
X 189,000
= 56,700

403 THXISH SR =01 & 245,700 117,000 128,700
% 189,000
== 56,700

01 XIS ESE 245,700 117,000 128,700
OXAIANICIHME 2 245,700
X 189,000
[ 56,700

SESXNEXTLAISE(ZD) 986,000 1,015,000 £A29,000
X 680,000
[ 306,000
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2A: 250z
HH: AAREo ZFWH LSH(IL2Z/2S0=)

Cel. SSI2EIXAY 24 (St &)
ey aﬂ : GH(QIJ%I) e e - HaS o Olao dUE | oo
" HAS L i T 0:“&_0" : WS
403 XHXISHHI S AH=0I ™ 986,000 1,015,000 229,000
Xl 680,000
= 306,000
01 AXIEHMA2E X 986,000 1,015,000 229,000
ORYFZ2STA =4 435,000
Xl 300,000
& 135,000
OEM2SIESNY =4 435,000
Xl 300,000
== 135,000
Oxx AR 230 =4 116,000
Xl 80,000
== 36,000
22 B2 . 0@ 229 43} 250,000 0 250,000
308 XXM E0I A 250,000 0 250,000
01 AIXIStHZBABEXS 250,000 0 250,000
OZURT EEH . Dz 29 8435 250,000
HAAMAALE =4 100,000 0 100,000
401 AlEHILE0HH] 100,000 0 100,000
01 Al & HI 100,000 0 100,000
O%s SEEIAL =4 100,000
Qo2 X OHE 8435 X 468,000 0 468,000
= 360,000
== 108,000
daZHeed Ty (210) 468,000 0 468,000
= 360,000
== 108,000
308 XX SHSOIA™ 468,000 0 468,000
= 360,000
& 108,000
01 IXSHHBAEES 468,000 0 468,000
OZEZHEESE Y 468,000
= 360,000
= 108,000
23342 HAHAE BE - S(23L2Z/235HM) 25,991,677 26,803,720 A812,043
= 13,818,474
J| 1,340,046
== 10,833, 157
SsnMe /BN PE . 15 6,003,020 5,087,830 965, 190
= 1,551,000
J| 1,340,046
& 3,111,974
HEE 23 aAEXA 400,000 0 400,000
308 A XIEHHI SO0l & 400,000 0 400,000
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2 280

I BaRA0 MY PE - HS(2LBB/2W)
CHel: 231949 AEI|E BE - 1S L
i kl am . qﬂ(wn) A EQE Cmme s BRE L igES
. i . . : i i — = Lo .
01 I}il’-&ﬂl%é’i?ﬁg 400,000 0 400,000
OHZE=E 23 a=E=M 400,000
FE2AN B - 4 643,000 618,000 25,000
202 o4l 3,000 3,000 0
01 =LHOIHI 3,000 3,000 0
OREESMN 25 - 84 22 A 3,000
308 XXM SOl 640,000 590,000 50,000
01 IXHBLEZS 640,000 590,000 50,000
Ok FEEN ds3NA 500,000
OZE M 2E3 N3 24,000
OAE =% &3 N 24,000
ozdorclg 2584 10,000
Ok FEHESM SHEA 62,000
OZE stdt L=E0I] 0FH Jig At 20,000
AP HSE0IY BA XN 20,000 20,000 0
307 2Iztol A 20,000 20,000 0
02 UAFHANHEZ 20,000 20,000 0
OZJAFE =M HNSEOEY #A X2 20,000
MG 29 48,000 46,000 2,000
201 ¢Et2dy| 40,000 40,000 0
01 At 22l H 40,000 40,000 0
O3NS 29 40,000
202 04 H 8,000 6,000 2,000
01 =0l 8,000 6,000 2,000
O=3tR &S 2| & J|g3E HRFN 8,000
ZM 20N 22t 15,000 11,000 4,000
201 et 15,000 11,000 4,000
01 At 22l 15,000 11,000 4,000
O2&tM #cl210AM &2t 15,000
d+ N2 43 XA (=2) 111,650 150,800 239,150
= 77,000
LS 34,650
308 AHXIEHHSOI& 111,650 150,800 239,150
= 77,000
LS 34,650
01 IXSHBLEZS 111,650 150,800 £A39,150
Od+ uUs2 43 N3 111,650
= 77,000
= 34,650
Jlgg 2dzel(30D) 100,000 100,000 0
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SA:

B

el

S0z

=

SERMSY AR 2&= - A

SEOA0 [ASI|E HE . nE (Etel:dQ)
= M .o - HAS  Oll Aol ‘ HE L  HIm=2t
308 AtXIHHSOIH 100,000 100,000 0
= 100,000
01 IXHHBAEEZ 100,000 100,000 0
OS2 MMat2e| 100,000
= 100,000
23 g2 =AY XN](21) 652,750 696,500 A43,750
= 373,000
== 279,750
308 A X HHMSOIH 652,750 696, 500 A43,750
= 373,000
== 279,750
01 HXSHBAEEZ 652,750 696,500 243,750
OMMESI A 652,750
= 373,000
[ 279,750
A0 SHE= AE, &0 EEAY(ZD) 310,500 355,650 245,150
= 207,000
== 103,500
308 XXM SOl A 310,500 355,650 245,150
= 207,000
L= 103,500
01 AXECNBANEXES 310,500 355,650 245,150
O&u M2 Z3 M &8 At 310,500
= 207,000
== 103,500
MASRA STH2E 2 ELE(21) 80,000 40,000 40,000
= 80,000
308 AtXI X SOl H 80,000 40,000 40,000
2 80,000 g
01 HXESNBAEES 80,000 40,000 40,000
OAHAISL &8 L EEAY 80,000
= 80,000
231 =AY (=20) 1,330,000 1,300,000 30,000
J| 665,000
= 665,000
307 g12+0| & 1,330,000 1,300,000 30,000
Il 665,000
= 665,000
02 QIZtA AN EE 1,330,000 1,300,000 30,000
O3 M sS=Ae 1,330,000
J| 665,000
== 665,000
oG ot QI=siAL X@(21) 29,386 30,102 AT16
| 24,200
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A
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et

Est0l s
SSRM HHAE BZE - HS(SALBH/S5T)
SstRao AEIIE BE - 32F (&2 ®E)
SA - BY - SR(BAH) - ISAY - BES HRS
308 XAt XIEHHES0I& 29,386 30,102 AT16
7| 24,200
=) 5,186
01 RXtHZBAEES 29,386 30,102 AT16
OX 74 BISBAL K& 29,386
Jl 24,200
[+ 5,186
23 OF#(®ITIMH (= 1) 690,000 450,000 240,000
= 460,000
= 230,000
308 XHXI XIS 01 & 690,000 450,000 240,000
2 460,000
== 230,000
Ol AXHHMELEXS 690,000 450,000 240,000
OZ3HTH OF8H (®ITIAY 690,000
= 460,000
< 230,000
S otEAHIA Xl & E#E(=2D1) 330,947 312,764 18, 183
Jl 254,576
< 76,371
308 AXIEHMSOIA 330,947 312,764 18,183
| 254,576
== 76,371
Ol AXGHBAEES 330,947 312,764 18,183
OSSN orEAHI] Xl & &8 330,947
I 254,576
== 76,371
S SWAE |2 NJ(32) 189,363 190, 153 AT90
Il 167,790
=S 21,573
308 AtXI A S0IH 189,363 190, 153 AT
Il 167,790
== 21,573
01 AXetHBAEERS 189,363 190, 153 AT90
O23tM YMAIE s XS 189,363
J| 167,790
== 21,573
23 MHLXAE 2F(=2) 281,424 445,361 A 163,937
J| 228,480
= 52,944
403 RtXIEHMEXN201H 281,424 445,361 163,937
Il 228,480
= 52,944
01 XSt A2EE 281,424 445,361 163,937
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A 280z
HH: 2SR HIAE BE - HE(2SL2Z/25HM)
Eel: 2eRAo JFEIIE BEE - A5 (et E?;')
L L cm(mu) A - Hys 0 &t i RS
T oEEmAoEn ESE 281,424 —
I 228,480
= 52,944
HEMAI2S 2EAH(SD) 208,500 271,500 AB3,000
= 139,000
== 69,500
308 AtXIEHSOIE 208,500 271,500 263,000
= 139,000
< 69,500
Ol AXEHHBAEES 208,500 271,500 A63,000
OTSLIAIZEI M EEAME 208,500
= 139,000
= 69,500
TSR 4t JIXEs 75,000 0 75,000
308 At XIEHSOIH 75,000 0 75,000
0Ol AIXSHHBAEES 75,000 0 75,000
OUWLNE & 0B 2l 75 75,000
EstRL A2 300,000 0 300,000
307 glztol & 200,000 0 200,000
02 SIZHAMAHEE 200,000 0 200,000
OZALTHESM EAMES AL IF 200,000
308 RtXIEHSO0IH 100,000 0 100,000
Ol AIXSHBLEXS 100,000 0 100,000
ORUAZR XNE MARL S =& 50,000
OMAR4 SERL 282 % B2 50,000
Hda ns HEXA(2) 65,000 0 65,000
= 50,000
e 15,000
403 X EHHSH=01H 65,000 0 65,000
= 50,000
= 15,000
01 XN R2ER 65,000 0 65,000
OE+NERH B+ 65,000
= 50,000
< 15,000
X234 NS MY (2HI) 122,500 0 122,500
= 65,000
== 57,500
307 2I2t0lA 100,000 0 100,000
= 50,000
< 50,000
02 CIZHE A MHE X 100,000 0 100,000
OXZEESRL WK AL 100,000
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2AM: 230
FH: 23R4S WAH 2E - M8
B B3R FEIE HE - R

B . ", Chol (s . M= LEHAS - }oH = =5
e = —Z5 000 —

50,000

308 AMXISHHSOI™ 22,500 0 22,500
= 15,000
& 7,500

01 XX SHHBAEERS 22,500 0 22,500
OXNHRsRA WE AL 22,500
= 15,000
= 7,500

=g+ ¥ |RAEH 19,988,657 21,765,890 AN1,777,233
= 12,267,474
T 7,721,183

23 2434l 4,198,000 3,438,000 760,000

202 odl 20,000 14,000 6,000

01 =W I 20,000 14,000 6,000
o223 2+3Hl =& 20,000

403 Rt XSRS K20l 4,178,000 3,424,000 754,000

01 XSRS EER 4,178,000 3,424,000 754,000
OEXNE =23 2=+=3H| 4,178,000

2IIXNESHHMN 24+FH(22) 13,401,524 11,470,520 1,931,004
= 10,946,050
== 2,455,474

403 XM SA=201H 13,401,524 11,470,520 1,931,004
= 10,946,050
== 2,455,474

01 X SRMAEE= 13,401,524 11,470,520 1,931,004
O=JINE2M B3| 13,401,524
= 10,946,050
T 2,455,474

HEANE E4FE(21) 1,222,500 1,200,000 22,500
= 815,000
T 407,500

403 XIS E X201 E 1,222,500 1,200,000 22,500
= 815,000
= 407,500

01 RXISHMA2EE 1,222,500 1,200,000 22,500
OHEAE E4FH| 1,222,500
= 815,000
< 407,500

HEAE STAIAE SRIEL(21) 128,133 69,870 58,263
= 85,424
< 42,709

308 XtXI A SO0l 128,133 69,870 58,263
= 85,424
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M

250l
SesM HMAE EE -
]|

el B2 ¥ |RAH (&2
. 2N -3E 91-1(94341) Nz Atﬁ Bas ooy e ClimE=
EEE = 70 — ’
01 AXSHHMBAEES 128,133 69,870 58,263
OHSEMNE UTHAIAE RAES 128,133
=2 85,424
< 42,709
HEAE YTMAAY 2=(=21) 631,500 1,080,000 448,500
= 421,000
& 210,500
403 I XISHHSX=0l ™ 631,500 1,080,000 A448,500
= 421,000
= 210,500
01 HXEHA=2EER 631,500 1,080,000 A448,500
OHSAE LTANXE 75 631,500
= 421,000
S 210,500
SANSSEE M2 HWEESH ZA X 200,000 0 200,000
307 2I2t01 A 200,000 0 200,000
02 QIHEAAIHE X 200,000 0 200,000
OSHIOIESET AMA HESSM A XY 200,000
EstRLS HAE BEEFHI 207,000 0 207,000
403 XX EHH S X201 ™ 207,000 0 207,000
01 A XISH A2 EE 207,000 0 207,000
OZXNEESM =F CHHE FHb| 207,000
HHSAHHI(2S0l=) (J1EHIIE) 48,266 49,880 A1,614
Jl2&Hl 48,266 49,880 21,614
2A2Y JI238H 48,266 49,880 21,614
201 282 31,466 30,080 1,386
01 At 22l 31,466 30,080 1,386
ORAM2YE A el 31,466
202 odl 13,200 15,600 22,400
01 = LHOIHI 13,200 15,600 22,400
ORA2Y SU0HI 13,200
203 P RF=&H 3,600 4,200 A600
04 REA2SLFFAHI 3,600 4,200 AB00
©20¢! 0l&t 300, 000& 128 3,600
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